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(C) # &I otéjmwoommWFd)lZﬁdﬁﬁﬂQﬁd)?x{ TE(kN/ ) (@) iﬁ#ﬁ.—m\smuwnztamiﬁ#ﬁamw%jcﬁg_m/m) DEREHAENSETTHENTES,
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(A) (B) (© (D) (E) (F) (@) (H) (A) (B) (©) (D) (E) (F) (@) (H)
(1)]| 1186 1.0 99.0 1.0 - - 11.1 2.2 118.6 1.0 99.4 1.0 - - 1.1 2.2
(2)| 1405 1.0 99.7 1.0 - - 13.8 2.7 1405 1.0 96.9 1.0 - - 13.8 2.7
( 3)| 1070 1.0 99.6 1.0 - - 11.4 2.3 107.0 1.0 96.9 1.0 - - 1.4 2.3
( 4) - - 67.8 1.0 - - 9.5 1.9 - - 67.8 1.0 - - 9.5 1.9
(5) - - 95.1 1.0 - - 9.8 1.9 - - 95.1 1.0 - - 9.8 1.9
(6 )| 1348 1.0 99.4 1.0 - - 12.7 2.5 134.8 1.0 99.1 1.0 - - 12.7 2.5
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